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213 
fo"k; %fo"k; %fo"k; %fo"k; % lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku    

Subject: SOCIAL SCIENCE 

le; % 03 ?k.Vs  iw.kkZad % 100 

Time : 03 Hours  Maximum Marks : 100 

 

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&    bl iz’u i= ds nks Hkkxbl iz’u i= ds nks Hkkxbl iz’u i= ds nks Hkkxbl iz’u i= ds nks Hkkx    gSa& Hkkx ^d^ o Hkkx ^[k^AgSa& Hkkx ^d^ o Hkkx ^[k^AgSa& Hkkx ^d^ o Hkkx ^[k^AgSa& Hkkx ^d^ o Hkkx ^[k^A    
    (i)    Hkkx ^d^ ds lHkh iz’u vfuok;Z gSaAHkkx ^d^ ds lHkh iz’u vfuok;Z gSaAHkkx ^d^ ds lHkh iz’u vfuok;Z gSaAHkkx ^d^ ds lHkh iz’u vfuok;Z gSaA    
    (ii)    izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSAizR;sd iz’u ds fy, 1 vad fu/kkZfjr gSAizR;sd iz’u ds fy, 1 vad fu/kkZfjr gSAizR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA    
    (iii)        dqy 25 cgqfodYih; iz’u gSaA izR;sd iz’u esa dsoy ,d fodYi lgh gSA buesa ls lgh dqy 25 cgqfodYih; iz’u gSaA izR;sd iz’u esa dsoy ,d fodYi lgh gSA buesa ls lgh dqy 25 cgqfodYih; iz’u gSaA izR;sd iz’u esa dsoy ,d fodYi lgh gSA buesa ls lgh dqy 25 cgqfodYih; iz’u gSaA izR;sd iz’u esa dsoy ,d fodYi lgh gSA buesa ls lgh 

fodYi dks mŸkj rkfydk esa ¼fodYi dks mŸkj rkfydk esa ¼fodYi dks mŸkj rkfydk esa ¼fodYi dks mŸkj rkfydk esa ¼√√√√½ fpUgkafdr dhft,A½ fpUgkafdr dhft,A½ fpUgkafdr dhft,A½ fpUgkafdr dhft,A    
    (iv)    HkkHkkHkkHkkx ^[k^ ds lHkh iz’u vfuok;Z gSaAx ^[k^ ds lHkh iz’u vfuok;Z gSaAx ^[k^ ds lHkh iz’u vfuok;Z gSaAx ^[k^ ds lHkh iz’u vfuok;Z gSaA    

    (v)    iz'uksa gsrq fu/kkZfjr vad muds le{k fn, x, gSaAiz'uksa gsrq fu/kkZfjr vad muds le{k fn, x, gSaAiz'uksa gsrq fu/kkZfjr vad muds le{k fn, x, gSaAiz'uksa gsrq fu/kkZfjr vad muds le{k fn, x, gSaA    

 (vi) iz’uksa ds mŸkj fu/kkZfjr 'kCn lhek esa nhft,&iz’uksa ds mŸkj fu/kkZfjr 'kCn lhek esa nhft,&iz’uksa ds mŸkj fu/kkZfjr 'kCn lhek esa nhft,&iz’uksa ds mŸkj fu/kkZfjr 'kCn lhek esa nhft,&    

  iz'u Øiz'u Øiz'u Øiz'u Ø----    1 ls 4 rd ds lHkh iz’uksa ds mŸkj yxHkx 20 'kCnksa esa] 1 ls 4 rd ds lHkh iz’uksa ds mŸkj yxHkx 20 'kCnksa esa] 1 ls 4 rd ds lHkh iz’uksa ds mŸkj yxHkx 20 'kCnksa esa] 1 ls 4 rd ds lHkh iz’uksa ds mŸkj yxHkx 20 'kCnksa esa]     

        iz’u Øiz’u Øiz’u Øiz’u Ø----    5 ls 8 rd ds iz’uksa ds mŸkj yxHkx 40 '5 ls 8 rd ds iz’uksa ds mŸkj yxHkx 40 '5 ls 8 rd ds iz’uksa ds mŸkj yxHkx 40 '5 ls 8 rd ds iz’uksa ds mŸkj yxHkx 40 'kCnksa esa] kCnksa esa] kCnksa esa] kCnksa esa]     

        iz’u Øiz’u Øiz’u Øiz’u Ø----    9 ls 12 rd ds iz’uksa ds mŸkj yxHkx 60 'kCnksa esa rFkk 9 ls 12 rd ds iz’uksa ds mŸkj yxHkx 60 'kCnksa esa rFkk 9 ls 12 rd ds iz’uksa ds mŸkj yxHkx 60 'kCnksa esa rFkk 9 ls 12 rd ds iz’uksa ds mŸkj yxHkx 60 'kCnksa esa rFkk     

        iz’u Øiz’u Øiz’u Øiz’u Ø----    13 ls 15 rd ds iz’uks13 ls 15 rd ds iz’uks13 ls 15 rd ds iz’uks13 ls 15 rd ds iz’uksaa aa    ds mŸkj yxHkx 80 'kCnksa esa rFkk ds mŸkj yxHkx 80 'kCnksa esa rFkk ds mŸkj yxHkx 80 'kCnksa esa rFkk ds mŸkj yxHkx 80 'kCnksa esa rFkk     

        iz’u Øiz’u Øiz’u Øiz’u Ø----    16 ls 18 rd ds iz’uksa ds mŸkj yxHkx 100 'kCnksa esa nhft,A 16 ls 18 rd ds iz’uksa ds mŸkj yxHkx 100 'kCnksa esa nhft,A 16 ls 18 rd ds iz’uksa ds mŸkj yxHkx 100 'kCnksa esa nhft,A 16 ls 18 rd ds iz’uksa ds mŸkj yxHkx 100 'kCnksa esa nhft,A     

        iz’u Øiz’u Øiz’u Øiz’u Ø----    19 dk mŸkj layXu Hkkjr ds j19 dk mŸkj layXu Hkkjr ds j19 dk mŸkj layXu Hkkjr ds j19 dk mŸkj layXu Hkkjr ds js[kk ekufp= es nhft,As[kk ekufp= es nhft,As[kk ekufp= es nhft,As[kk ekufp= es nhft,A    

Note:- This question paper has two parts - part A and part B. 

 (i) All questions of part A are compulsory. 

 (ii) 1 mark is allotted for each question. 

 (iii)  There are 25 multiple choice questions in all. Only one of the options in every 

question is correct. Tick („„„„) the correct answer in your answer - sheet. 

 (iv) All questions of part B are compulsory. 

 (v)  Marks allotted to each question are mentioned against them. 

 (vi)  Answer the questions in the prescribed word limit:- 

  Answer of Q Nos. 1 to 4 in 20 words,  

  Q Nos. 5 to 8 in 40 words, Q Nos. 9 to 12 in 60 words, 

  Q Nos. 13 to 15 in about 80 words and  

  Q Nos. 16 to 18 in 100 words each.  

  Answer Q Nos. 19 in attached outline map of India. 
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Hkkx & dHkkx & dHkkx & dHkkx & d    

PART- A 

le; % 30 feuV   iw.kkZad % 25 
Time :  30   Min. Maximum Marks : 25 

 

iz- 1 lgh fodYi pqudj fyf[k,&        ¼1¼1¼1¼1××××25252525====25½25½25½25½ 
  1- vkS|ksfxd Økafr dk vkjaHk dgk¡ gqvk\   
  ¼v½ Ýkal 
  ¼c½ :l 
  ¼l½ baXyS.M 
  ¼n½ teZuh 
  Where did the Industrial Revolution begin? 

  (a) France  

  (b) Russia 

  (c) England 

  (d) Germany 

 2- ns’k ds ldy ?kjsyw mRikn es Hkkjrh; d`f"k dk D;k ;ksxnku gS\ 

  ¼v½ 20% 
  ¼c½ 25% 
  ¼l½ 33% 
  ¼n½ 50% 
  What is the contribution of Indian agriculture of GDP of the country?  

  (a) 20% 

  (b) 25% 

  (c) 33% 

  (d) 50% 

 3- fuEufyf[kr esa ls dkSu lh laLFkk eq[; :i ls lSfudksa dh lqfo/kk ds fy, lM+d cukus 
dk dk;Z djrh gS\   

  ¼v½ dsUnz ljdkj 
  ¼c½ jkT; ljdkj 
  ¼l½ lhek lM+d laxBu 
  ¼n½ ftyk iz’kklu 

 Which one of the following organisations is engaged in the construction of road for 

facilitating mainly to the soldiers?   

  (a) central government  

  (b) state government 

  (c) border road organisation 

  (d) district administration 
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 4- fdl laf/k ds rgr igyk vaxzst ejkBk ;q) [kRe gqvk%   

  ¼v½ cslSu dh laf/k 

  ¼c½ dydRrk laf/k 

  ¼l½ ykgkSj laf/k 

  ¼n½ lkygkbZ laf/k  

  The first Anglo – Maratha was concluded by the: 

  (a) treaty of Bessain 

  (b) treaty of Calcutta  

  (c) treaty of Lahore  

  (d) treaty of Salhai 

 5- dsUnz lwph esa fdrus fo"k;ksa dks lfEefyr fd;k x;k gS\   

  ¼v½ 47 
  ¼c½ 66  
  ¼l½ 87  
  ¼n½ 106  

  How many subjects have been included in the Union list?  

  (a) 47  

  (b) 66  

  (c) 87 

  (d) 106 

 6- jkT;iky buesa ls fdl U;k;ky; }kjk nf.Mr O;fDr dks {kek iznku ugha dj ldrkA  

  ¼v½ l= U;k;ky; 

  ¼c½ lSfud U;k;ky;  

  ¼l½ ftyk U;k;ky;  

  ¼n½ mPp U;k;ky;  

  A Governor can not pardon a person punished by a- 

  (a) Session court  

  (b) Military court  

  (c) District court 

  (d) High court 
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 7- ,d fo/kku e.My dk dkSu lk lnu LFkk;h gksrk gS\   

  ¼v½ fo/kkulHkk  
  ¼c½ fo/kku ifj"kn  
  ¼l½ nksuksa  
  ¼n½ dksbZ Hkh ugha  

  Which is a permanent house of a state legislature? 

  (a) Legislative Assembly  

  (b) Legislative Council  

  (c) Both 

  (d) None 

 8- jkT; ds eq[; lEidZ vf/kdkjh ds :i esa dkSu dk;Z djrk gS\   

  ¼v½ x`g lfpo  

  ¼c½ fo’ks"k lfpo  

  ¼l½ foRr lfpo  

  ¼n½ eq[; lfpo 

 Who acts as the Chief Public Relation Officer of the state?  

  (a) Home Secretary   

  (b) Secretary (Special)  

  (c) Finance Secretary 

  (d) Chief Secretary 

 9- fuEufyf[kr esa ls dkSu lk tu Hkkxhnkjh dks izHkkfor djus okyk dkjd ugha gS\  

  ¼v½ vkfFkZd fLFkfr  

  ¼c½ jktuhfrd vkSj dkuwuh O;oLFkk,a  

  ¼l½ f’k{kk  

  ¼n½ LFkku ¼’kgjh@nsgkrh½  

Which of the following does not influence people’s participation? 

  (a) Economic conditions  

  (b) Politico and legal arrangements  

  (c) Education 

  (d) Location (urban / rural) 
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 10- fuEufyf[kr esa ls dkSu lk ncko lewg dk ekSfyd rRo gS\  

  ¼v½ laxBu  

  ¼c½ fopkj/kkjk  

  ¼l½ fu.kZ; dks izHkkfor djuk  

  ¼n½ ncko rduhd viukuk 

Which of the following is a basic element of pressure groups? 

  (a) Organization  

  (b) Ideology  

  (c) Influencing decisions making 

  (d) Adopting pressure techniques.  

 11- pquko fuEufyf[kr ds fy, volj iznku djrk gS%   

  ¼v½ Hkkxhnkjh 

  ¼c½ vkenuh  

  ¼l½ jkstxkj  

  ¼n½ mijksDr lHkh  

  Election provides opportunities for: 

  (a) Participation   

  (b) Income  

  (c) Employment 

  (d) All of the above 

 12- ftyk Lrjh; QkStnkjh U;k;ky; dks fdl uke ls tkurs gSa\   

  ¼v½ v/khuLFk U;k;ky;  

  ¼c½ l= U;k;ky; 

  ¼l½ vihyh; U;k;ky;  

  ¼n½ ftyk U;k;ky; 

  A Criminal court at the district level is known as- 

  (a) Subordinate court  

  (b) Session court  

  (c) Appellate court 

  (d) District court 
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 13- ekSfyd vf/kdkjksa ds ckjs esa buesa ls dkSu lh ckr lgh gS\   

  ¼v½ os ije gksrs gSa  

  ¼c½ mudh la[;k vkB gS  

  ¼l½ os U;k; {ks= v/khu gksrs gSa  

  ¼n½  mudk mYys[k lafo/kku ds pkSFks Hkkx esa fd;k x;k gS 

 Which of the following is correct about Fundamental Rights. 

  (a) They are absolute.  

  (b) There number is eight.  

  (c) They are Justiciable.  

  (d) They are mentioned in part of the constitution.  

 14- fuEufyf[kr esa dkSu lk Hkkjrh; lafo/kku dk ,d vkn’kZ ugha gS\    

  ¼v½ lEizHkqrk  

  ¼c½ yksdra=  

  ¼l½ lektokn 

  ¼n½ jk"Vªifr 'kklu iz.kkyh 

 Which one is not a socialistic feature of the Indian constitution? 

  (a) Equal opportunities   

  (b) Welfare of all  

  (c) Equal wage for equal work 

  (d) Presidential system of government 

 15- Hkkjr dh lafo/kku lHkk dk v/;{k dkSu Fkk\   

  ¼v½ MkW- ch- vkj- vEcsMdj  

  ¼c½ MkW- jktsUnz izlkn 

  ¼l½ tokgjyky usg: 

  ¼n½ Jh ch- ,u- jko 

  Who was the president of the constituent assembly? 

  (a) Dr. B. R. Ambedkar   

  (b) Dr. Rajendra Prasad  

  (c) Jawaharlal Nehru 

  (d) Mr. B. N. Rao 
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 16- fuEufyf[kr esa ls dkSu leqnzh ;k=k dh [kkst dk ,d ifj.kke ugha Fkk\  
  ¼v½ ,f’k;k vkSj vÝhdk esa mifuos’k LFkkfir djuk 
  ¼c½ ;wjksi O;kikj dk foLrkj  
  ¼l½ mifuos’kksa dk fodkl 
  ¼n½ nkl O;kikj dk vkjaHk 

 Which of the following was not a result of the voyage of discovery? 

  (a) Setting up colonies in Asia and Africa   

  (b) Expansion of European commerce  

  (c) Rise in the prosperity of the colonies 

  (d) Beginning of slave trade  

 17- ikjfl;ksa dh /kkfeZd iqLrd dks dgrs gSa\   
  ¼v½ dqjku 
  ¼c½ ckbfcy 
  ¼l½ vosLrk&,&tsUn 
  ¼n½ jkek;.k 
  Parsees religious book is called? 

  (a) Quran   

  (b) Bible  

  (c) Avesta-e-zend 

  (d) Ramayan 

 18- /kkfRod [kfutksa ij vk/kkfjr fuEufyf[kr esa ls dkSu lk m|ksx vko’;d :i ls viuh 

[knkuksa ds ikl fLFkr ugha gS\    

  ¼v½ rkack 'kks/ku  

  ¼c½ Lo.kZ 'kks/ku 

  ¼l½ ,Y;wehfu;e mRiknu 

  ¼n½ ykSg v;Ld 

 Which industry based on Metalic minerals is not necessarily  located near its mines in 

India?  

  (a) Copper processing  

  (b) Gold processing  

  (c) Aluminium production 

  (d) Iron are 
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 19- fuEufyf[kr esa dkSu lh nwjlapkj lsok uohure gS\   
  ¼v½ VsyhQksu 
  ¼c½ pfyr Qksu  
  ¼l½ Vsyhxzke  
  ¼n½ ,l- Vh- Mh  

 Which of the following is the latest service of telecommunication? 

  (a) Telephone  

  (b) Mobile  

  (c) Telegram 

  (d) S. T. D. 

 20- 'kkdkgkjh%&   

  ¼v½ isM+ ikS/kksa dks [kkrs gSa  

  ¼c½ isM+ ikS/kksa vkSj izkf.k;ksa nksuksa dks [kkrs gSa 

  ¼l½ vU; izkf.k;ksa dk ek¡l [kkrs gSa  

  ¼n½ nwljs }kjk NksM+s x, Hkkstu dks [kkrs gSa  

  Herbivores:- 

  (a) Eat plants directly  

  (b) Eat both plants and animals 

  (c) Eat meat of other animals 

  (d) Eat food left by others. 

 21- iw.kZ Lora=rk dh ekax dgka j[kh xbZ\   

  ¼v½ fnYyh 

  ¼c½ eqacbZ  

  ¼l½ lwjr  

  ¼n½ ykgkSj  

  Where was demand of complete independence made? 

  (a) Delhi   

  (b) Mumbai  

  (c) Surat 

  (d) Lahore 
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 22- Hkkjr fdl iBkjh; {ks= esa [kfutksa dk Hk.Mkj gS\   

  ¼v½ NksVk ukxiqj  

  ¼c½ ekyok  

  ¼l½ nDdu  

  ¼n½ f’kykax  

 Which plateau region of India has a high concentration of minerals?  

  (a) Chhota Nagpur  

  (b) Malwa  

  (c) Deccan 

  (d) Shillong 

 23- vk;Z lekt ds laLFkkid &   

  ¼v½ jktk jke eksgu jk; 

  ¼c½ Lokeh n;kuan ljLorh  

  ¼l½ T;ksfrck Qqys  

  ¼n½ egknso xksfoUn jkukMs  

  The founder of Arya Samaj-  

  (a) Raja Ram Mohan Rai  

  (b) Swami Dayanand Saraswati  

  (c) Jyotiba Fule 

  (d) Mahadev Govind Ranade 

 24- izk;}hih; Hkkjr dh lcls yEch unh gS&   

  ¼v½ d`".kk  
  ¼c½ dkosjh 
  ¼l½ ueZnk 
  ¼n½ xksnkojh 

  Which is the longest river of peninsular India? 

  (a) Krishna  

  (b) Kaveri  

  (c) Narmada 

  (d) Godavari  
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 25- ehj tkQj dgka dk uokc Fkk\   

  ¼v½ eSlwj 

  ¼c½ iatkc  

  ¼l½ caxky  

  ¼n½ cjkd  

  Mirjafar was the Nawab of- 

  (a) Mysore  

  (b) Punjab  

  (c) Bengal  

  (d) Berak 

 

Hkkx & [kHkkx & [kHkkx & [kHkkx & [k    

PART &&&& B 

le; % 2½ ?k.Vs  iw.kkZad % 75 

Time : 2½ Hours  Maximum Marks : 75 

 

iz-1 jkse fdl unh ds rV ij clk gS\ ¼2½¼2½¼2½¼2½ 

 Name the river on which the city of Rome is situated? 

iz-2 yhx vkWQ us’kUl dk eq[; dk;kZy; dgka fLFkr Fkk\ ¼2½¼2½¼2½¼2½    

 Where was the Head Quarters of the league of nations situated? 

iz-3 oS’ohdj.k ds rhu ifj.kkeksa dh ppkZ dhft,A ¼2½¼2½¼2½¼2½    

 Mention three consequence of globalization. 

iz-4 gekjs ekSfyd vf/kdkjksa dk vfHkj{kd fdls dgk x;k gS\ ¼2½¼2½¼2½¼2½    

 Who is called the custodian of our fundamental rights? 

iz-5 rhljh nqfu;k ds ns’k fdUgsa dgk tkrk gS\ mudh eq[; ekaxs D;k gSa\ ¼3¼3¼3¼3½½½½  

  Who are referred as the third world countries? What are their main demands? 

iz-6 v’kksd ds vuqlkj /keZ D;k gS\ ¼3¼3¼3¼3½½½½    

 What is “dharma” according to “Ashoka”? 
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iz-7 gfjr Økafr ds rhu lcls egRoiw.kZ y{k.kksa dks crkb,A ¼3¼3¼3¼3½½½½ 

 State the three most significant characteristics of Green Revolution 

iz-8 tux.kuk vfHk;ku fdls dgrs gSa\ ;g gekjs fy, fdl izdkj mi;ksxh gS\    ¼3¼3¼3¼3½½½½ 

 What is census operation? How is it useful to us?  

iz-9 1857 ds vkanksyu dk vUr%r;k foQy D;ksa gqvk\ ¼4¼4¼4¼4½½½½    

 Why did the war of 1857 ultimately fail? 

iz-10 oU; thoksa dk laj{k.k D;ksa egRoiw.kZ gS\ ¼4¼4¼4¼4½½½½    

 Why is conservation of wild life important? 

iz-11 fdUgh pkj ukxfjd vkSj jktuhfrd vf/kdkjksa dk mYys[k dhft,A ¼4¼4¼4¼4½½½½  

 State any four civil and political rights. 

iz-12 jk"Vªifr dh ;ksX;rk vkSj dk;Zdky dk o.kZu dhft,\ ¼4¼4¼4¼4½½½½    

 What are the qualification &  tenure of the President? 

iz-13 flapkbZ D;ksa vko’;d gS\ fdUgha pkj dkj.kksa dk o.kZu  dhft,A ¼5¼5¼5¼5½½½½ 

 Why is irrigation necessary? Describe any four causes of irrigation in India. 

iz-14 mPp U;k;ky; dh lajpuk rFkk {ks=kf/kdkj dk o.kZu   dhft,A  ¼5¼5¼5¼5½½½½  

 Discuss the Composition and Jurisdiction of a high court. 

iz-15 Hkkjrh; Lora=rk vkUnksyu dks tu vkUnksyu cukus esa xka/kh th dh Hkwfedk dks Li"V   

dhft,A      ¼5¼5¼5¼5½½½½    

 Explain Gandhiji’s role in making the Indian Freedom Movement into a mass movement.  

iz-16 Hkkjr ds izk;}hih; iBkj dks izeq[k HkkSfrd Hkkxksa esa ckaVdj mudk mi;ZqDr o.kZu dhft,A ¼6¼6¼6¼6½½½½  

 Divide the peninsular plateau of India into major parts and describe each one of them 

correctly.  

iz-17 Hkkjr esa pquko izfØ;k ds fofHkUu pj.kksa dk o.kZu dhft,A  ¼6¼6¼6¼6½½½½    

 Describe the various stage of electoral process in India. 

iz-18 Hkkjr dh tyok;q dks izHkkfor djus okys ikap dkjdksa dk mnkgj.k lfgr o.kZu dhft,A ¼6¼6¼6¼6½½½½    

 Describe five factor that effect climate of India with suitable examples.  
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iz-19 Hkkjr ds layXu js[kk ekufp= esa fuEufyf[kr dks n’kkZb,%  ¼6¼6¼6¼6½½½½    

    ¼1½ fgUn egklkxj 

 ¼2½ Hkksiky 

 ¼3½ dkathjaxk jk"Vªh; m|ku 

 ¼4½ ;equk unh 

 ¼5½ iUukj iBkj 

 ¼6½ y{;}hi 

 Show the following in the outline map of India: 

 (a) Hind ocean 

 (b) Bhopal 

 (c) Kanjirangha National park 

 (d) Yamuna river 

 (e) Pannar pathar 

 (f) Lakshya deep      

   

   

 

--------x--------x-------- 
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